C75-12, C85-12, C90-12, C90-14, C90-16, & 0O-200
Crankcase Clamping Bolt, Nut, & Washer Set

Original First Second Third
Quantity Part Number Supersession Supersession Supersession Description
3 AN960-516L 646605 Washer, Plain 5/16"
14 2437 Nut, 1/4"28 Plain hex
14 2886 Palnut 1/4"-28
25 2472 AN960-416 Washer, Plain 1/4"
2 2443 Washer, Plain 7/16"
2 2475 AN960-716 Nut, 7/16"20 Plain Hex
2 2958 Palnut 7/16"-20
1 2441 Nut, Plain Hex 3/8"
1 2474 AN960-616 Washer, Plain 3/8"
1 2465 Palnut, 3/8"-24
1 21218 Dowel, Case Alignment 5/16" Diax 1 1/2"
10 24251 Screw, 1/4"-28 X1 1/4"
2 24252 Dowel, Case Alignment 5/16" Diax 1 1/4"
1 AN4A14 Screw, 1/4"-28 x 1 1/2"




